ReviewSol (not full solutions)
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b) The 3 planes intersect at a

c) 2 parallel planes intersected
intersection
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arallel lines and no common point of

d) 3 distinct planes intersecting in a common line
21. a) (47,40.25,-14.375)
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23. =19-2h, w=38-2bh
a) g 3b v 3

by w=30,g=15,6=12
24, 2x -5y +29=0
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» =k where k is a constant
k£, whnere £ 1s a constant.
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b} The intersection is the given line.

M. a) 69.5° 0°  90°

b) 7, // 7, and 7, L7,.

¢) N, (xy.z)=(-2.-2.0)+1(-%.-Z.1) reR TNy D
mor,(xy.z)=(2. f" O)H(— 21) teR

d) 7z, // 7y and distinct, all other pairs are intersecting, with
mory(xy.z)=(-3.-2.0)+1(117.-3), m, "7, (x.p.z
7o (nyz)=(3.1 0)+r(11,?—3), mynmy(xy.z)= ( .
N, (x.y.2)=(3.5.0)+7(11.2.7)

/6 34 16 116
e) 34 6 29 f) =%
g derm, Ber and Ber, C is not on any of the planes
h) (2.3.3) Fg1) (23 @93
DxloZo 3 momi_sa i o3 mix_o
x—8 vyv-9
W a) P(2,-1,3) b) 2435 &) — :3’1—0:z+
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